',l Agent l

\ ’."i 4
il Environment]<—

action
a,




=t

Sk
—/ =

Q(s¢, ap)

1

= ) =)

|

Q(spar) « (1 —a)Q(sp,ap) + @ (Tc+1 N mc?x Q(St+1s a))

( J
I

Q(se.ar)
-1 -1
E;

o[ -10
0 0
0 0

o [ +10
-1 -1

a=1y=1



Q(sgar) « (1 —a)Q(sp,ap) +a (Tt+1 + ymaaXQ(St+1!a))

\

J

[

Q(si.a,)
-1 -1
B

w0l =10
0 0
0 0

o | +10
-1 -1

a=1y=1



=t

Sk
—/ =

Q(ss ay)

1

- <)

|

Q(spap) « (1 —a)Q(spar) + @ (rt+1 +y mé:lx Q(St+1s a))

[

J

|

Q(sp,ap)
-1 -1
B

y 101 =10
-1 0
0 0

Y +10 -+ 1 0
-1 -1



=t

Sk
—/ =

Q(sp,ap)

1

= < =)

Q(sp,ar) « (1 —a)Q(s¢,ar) + (Tt+1 +vy mélx Q(St+1, a))

\

J

I

Q(sear)
-1 -1
B

y 101 =10
1 0
0 -1

+9 +10 -+ 1 0
-1 -1



=t

Sk
—/ =

Q(spar) « (1 —a)Q(sp,ar) +a (Tt+1 +y m;lx Q(St+1s a))

\

J

|

Qe ar)
-1 -1
| =

y 101 =10
1 +9
0 +8

+9 +10| +10
-1 -1



=t

Sk
—/ =

Q(ss, a;)

1

= ) =)

Q(sp,ar) « (1 —a)Q(spay) + (Tt+1 + ymaax Q(St+1) a))

|

J

Q(se.ap)
1 -1
E

+8 | +7 -10 -1 0
+8 +9
+_7 +8

+9 | +8 +10 +10
-1 -1



